
 +1-760-591-7383   fxl.com

Replacement Parts 

DESIGNER | PATH LIGHT | FG LED

LED Chart

FXLIT-027   A   6/22

7

11

10

13 14 15 16

12

8

5

1

3

2

4

17

18

19

20

9

6

ITEM DESCRIPTION CATALOG #

1 Riser †

2 Screw, #10-32 x 3/ 16" 250012050000

3 Bottom Insert 250011990000

4 Long Slot Spike (LSS) 250015840000

5 Coupling †

6 Screw, #8-32 x 3/ 16" 250012760000

7 Top, Copper †

8 Bracket 250019140000

9 Screw, #6-32 x ⅜" 250012720000

10 LED Insert †

11 Screw, #6-32 x 13/4" 250019160000

12 Socket, 3-meter 752601

13-16 LED Board See LED Chart

17 Screw, #4-40 x ⅜" 762400

18 Gasket †

19 Lens See LED Chart

20 Screw, #6-32 x 3/ 8" 250014810000

ITEM DESCRIPTION CATALOG #

13 1 LED Board 1LEDULKIT‡†

14 3 LED Board                                                             3LEDULKIT‡†

15 6 LED Board 6LEDULKIT‡†

16 9 LED Board 9LEDULKIT‡†

16 ZDC LED Board ZDCKITL**

19 Lens, Clear 250019150000

19 Lens, Amber 250019150001

‡ ZD = Zoneable and dimmable (add ZD to front of part number) 
† Kits do not include TD/FG colored filters; must order separately 
** ZDC kit includes LED board, ZDC reflector, screws, and flood lens 
(9LEDFLLENS)


